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|, The que s Hon we will be analy = ing in Jhig proof s whe ther
A maodern chicken existed befre o modern chicken €99, 0"
Vite versq,

2, We wll defire o chicken as Lollows « A fea#werzop, ﬂghi/“g’
organism that on  only be hafched fom o chicken egg and
only  produces chicken eggs.

3. \«\)e v\H\\ Jeffne cnN egg as Fo/ows Aﬂ ObJ(C'I’ TC"Om w%?ch an
Org ani Sm Nalches.

H’. We wil Je!"r\e o Chicken €99 as follows : A 5Pecific 7ijpe of
€9y Hom  which 0’\‘9 Chick ens ok,

‘ 5 BQSeoo on %eje cjewfmerons We¢ Gan assume that ¢ hicken
€ggs poduce C)’\'Ckms which @n be logically /oof%ywecl
s ’\Q))(OWS

Cl’\\lcken Eﬂﬂ —> Uf‘\(kens

0. Therefore, 1€ we assume  This statement lo be frue, then the

sCOV\MPOSI ve  hus+ a’So bﬁ "'f'ué whch (an IOg:Ca}yAPOP’hfayed
as Lllows ¢

T Chickens —7 7 (hicken Esjs

. T_n p‘a'n D\ lish, This means that when Hhere were no
chicKens, +Lere must not have lbeen any chicken eggs.

‘ 8 Ps can be seen on +the W Kifedia age for chickens, the
carhest pictoral or wrilen histony of Modem day fowl dales
to Just over 2,000 Years ago. Wft"w[w before Fhis date, reither

Chickens o chicken €gys could hove  existed,



9. This bf\r\ s up the question ™ "9 artdless of which come
Frat (the c%’ckem or #ﬁ chicKen @3) how did they Come
Yo esistr?

‘OT\r\Q YY\OS",' ’Ogtca} ANSiver ~}-o this C{uejﬁon Qlo‘lfs {0
+he 'H\@,o of cevolulion, whichis accefted to be
e \og '7”’\6 Vast )’houon*/y of Scientsis.

I, We will define evelubon s Lollows : e pocess by which
Organisms  Come Yo exist over lime, ”wrouﬂh Natual ard /or
C»ﬂmc\cnal Selecizon FO{’“\C (ase o + #\C dﬁcl’m We w;/} assume
only Natural selection,

12 We will define naturl selechon as follows : the process by
\/\/1/\‘(,1'\ Certaln varieties of an organism become beﬂfr/‘ §w+€(]
for swvival  due fo mutations. This ofien leads fo e wolutton
in ke long derm,

3. TF\UE'%PQ, basecJ on Yhese  definitions and Jhe fact that
Medern day chickens didn't exist some 2000 years ago,
We Can Gssume That Sorne organism Must have S/ow)
ewhed into a chicken ove~ dime. This can be /Oﬁl(’a/
represented as follows :

O@amsm X dtret o icken

M HDWQV@P in Order 4o Know for sure that on Organis m
evo)ved into a Chicken , we hneed a wmore formal definion
\Cor‘evoluﬁmary R’,’cﬁﬁoﬂ

5. Because of the fact +hat the ewluton between Omganism
X and a chicken was such o slw Process, we can
Cconclude that Fhe stafe of being a chicken lies on o (on%nuous

i



SpPectrum, ‘

H: We. wwill cleque the unit Chick (Ch) as follows : Fcpf\eseﬂ-])f

the “chickeness™ of an oganism, where o higher talue
iN)ka‘f(S a C/OSU‘ em’u*ionay connecHon o the VY\OJ&/H
day chicken,

\T. The unit Darwin (Sewrce : Blackwell Publishing Rrolog y
Testbook) is defined as follows : the wnit of the rute of
evolution, expressed in  levels of charadedstic /year. The

ula is:

Xy T Xy

=

. Where -, = measue of choaderistic of organism 1.
Xy = Weusure of (haadteistic of oganism 2.
£ = Hime inYears between the existence of
Organism 1 OV\J organism 2.

1€, We wil) w%ﬂhu]a?(al(y defineg the unit Chick as follows ¢

1 ChoraclerisHc® -+
year _ S

C =

—

! where +he unit ig 7”‘\@ ,6\/6/ of CL\?CKC/’\(SS. ‘

|
9. We will also frake +he )Q)Howinj Qfﬁqmp#on: /47\9 organis i whose
Chickeness  exceeds . 100,000 Chie ks, or .1 M63q-Ch‘cR, s
Qvoluﬁor\c«n‘/y relaeted 1o +he modern ¢ hitken.
' 20, Awfjrer“ddmﬂ SOme. r‘egeq,/c%, T }'\O\VQ @nduc’ecp ‘H‘\Q'L }he
eorhest  Known diree  predecessor of the chicken s the
orchae opteryx, o {epthered dinosqur That existed cbout



|50 million Y ears ago, in e Mmid- Jurassic pertod
(sourte ¢ Wikipedia).

L, We will dedermine the Chickeness of the archaeopteryx.
inorde~ to prove that Some emanism did indeed evolve
Nnfo « CJ’\PCKGI’].

22 Y4 QSsumed that Jhe number of chicken-lke ¢ haraetarsti cs
‘Q)f‘ G fhoc)ém quy ChTCkCV\ s /OO%. BGS&;’ on S;th’an'fy n
ea “'\e,rmg, Skeletal shucture and Size, e will assyme thet an
“arthaeopteryx has 20% of a medern cday chicken's
Characleristics.

23 Ve will now @lculele Hhe chickeness of an
arthae opteryx : ‘

X, = 100 un 7% of ¢ hicken~1 e cheraetetsites
x, = 20 unids of chicken-like chabiederistics
t= 150 600,000 years

£ . 50,009,000 _ | 975, 000 Chicks

C= x, -x, Joo ~20o

= )?75 Meﬁa Chicks

24, Since the chickeness é-ﬁ on archae opr@x Exteeds ‘er
PW~A€4n€(f chicKeness hreshold (]-975 Megc Chicks s
grealer Han O.1 Mega (heks), we @n contlude +hat
)y orthae op*eryy s indeed ewolutionanly related to a

W\bdem dq-kj C[’\CCK?;’], .

25. Based on how we defined o chicken '”"\0(4\91'\/ it s ﬁhp”@? 7’%&1‘
o chicken Can only be hatched fom o chicKen €99. This leaols us
o beleve thet a predecessor of the chicken must  have,




ot Some Paint, Given birh 4 o chicken €99. This
Can be logically represented as Rllows:

Chitken  Antestor  —% Chicken Eggq.

26 We will use « pmof by contradiction 1o show that +his
SHatemend 1s Hue,

27 Ve will assume that +his }mp/fca%?on is false so @ Chicken
;anCeswLo/\ never )Omdu(é‘d a clfﬂckem(f‘gjf

Chicken Ancestor = 71 Chicken Egg

23, However, this creates o logical contraciction. I+ a chicken
" ancestr ohdnt p’odwe o chicken €99 ot Some poir f,
'HW\ a Ck‘tcken WbuU) %cure hever évelved ‘Fkb/’h one of s
P%JeCé‘jSOVf. B e cquse of the fact that ve see ¢ hickens
hewadays, and becaus€ (o Slep 24 we proved tha f

chickens  evolved fom arthaeo pleryx, e know that This must
be untre,

?ﬁ TT’\CfPﬂ%n’, We Can Conduc]@ _H’W& 0t Sopre Fol‘ml in “VY\G, Qa
- chicken ancestor must have produced a chicken €9g, which in furn
pm}uceé) the fi5+ chicken.

30, Bud wa‘lJr, there's /hore,; We will have Yo do some Or\alys/‘s
N order 1o /oga‘cally de termine  when &am‘/j this. Bzt
299 Came to exist, It Possible.

‘ 3 The wild fwl, the chsest onceston of ")'IC Modern  domesticated

hicken, has o chickenness fevel of approximalely, 20,000,000,
}Of‘ 20 Me_gq Chicks. 14 also shares 99.999% of
Chicken-like ~chaacleristics,

i



%2. By plugging Into the Chrk formule, We can see

X, 2100 Units of chicken-like Chamcdenst s
><L=§°(~q‘f‘? units of chrcken-1'%e charadedstics

t=
£ €
g C=— = —.  =720000,0006
X172 00-99. 994
t=72,000,
dference

ZBL}TN_ age A beteen the  wild %ow! and the modern chicken is
Chout 2,000 yeors which 1s exactly when dhe {5t recods of
the modern chicken dlate. Theredore, at Some point in e,

a wil) fowl Gave bvih b a chicten egg, Through Mutadion,

4. Howevery, we defired o chicken €99 a5 a type of e99 from
which only chickens hatch. This raises the queshon : A4
He e of (oncepHsn, how do we know Fhat o wild %w)

egg s reqlly o chicken ijﬁ?

35 Wc Wf” onlj ’hu’y }V\ow ”\(, bari@ owean €99 W}wm We can
See i'ks offspring , so ‘up fo the Point of ha*ch,‘nﬂ, an egg's
type is  unknown. Only when i+ hotthes and o chicken emerges
can we deem [+ o chitKen egg.

%é, IY\ (oﬂdus)om, ‘H\c C}’nC}(@r\ and the cHRKen €9y coeme g exist
at the exact Same e Since we can on’y know +hat an €99 is
& Ch‘(ken €99 once the chicken comes ouk



